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homework 8 q 1 start:



Note that the input and the noise are independent.
(In real world, who knows.)





For conditional density, formula 5.45 use fig 5.6 on page 240 as an example.

note single variable f(x) = 1/6

x is 1st die, y is 2nd die.
p(x=4, y=4) = 2/42 from table.

what is p(x=4|y=4)?     p(x=4, y=4) / p(y=4) = 2/42 / (1/6) = 2/7

note that if dice were independent, it would be 1/6.  

Using that table to show equation 5.48:





Example 5.33 on page 267

6

We want the probability of N more hits during the service time for 1st hit.










